ERMSHRERRELHER

30

Loy 1
KIEFEH 1.02
EEHM: SM6E4A158 (A)~FM6ES5A2A (K)
B E 5 R $ERIE (1 Sv/h)
(B AE£ TlEA< A5 EROLERS Xiﬁ!ﬁé:‘ﬂm@)%:é"@iﬁ'lﬁ i #
No| HHES O%ﬂ%lﬂ MEE | xig (R | pEORR | BREANTHLI0BRISHABITS TH{E =
AAFELRET ;
OOARE HERR) B 1@ 2 3E 4 5E
7;2?77.')’1"1 0.05 0.05 0.05 0.06 0.06 0.06
1 J18 2% ES) e 4823H 9:09 E 55/E I
s 0.07 0.08 0.08 0.09 0.09 0.08
7;2?77.')’1"1 0.06 0.07 0.07 0.08 0.08 0.07
2 119 SEMA 48178 | 1522 B BA =
i 0.09 0.09 0.10 0.11 0.11 0.10
7:;9]7,')’1'; 0.06 0.06 0.07 0.07 0.07 0.07
3 J20 J\BAREEEHEE | 48178 15:30 K& 55E,
i 0.08 0.09 0.09 0.09 0.09 0.09
7:;9]7,')’1'; 0.07 0.07 0.07 0.07 0.08 0.07
4 K20 /N -IAV R T 48178 15:40 g R T
i 0.08 0.08 0.09 0.09 0.08 0.09
7;;5?]7,')’&'; 0.06 0.06 007 0.07 0.07 0.07
5 L20 RN EHT 48178 15:49 K& 55/E T
s 0.09 0.10 0.11 0.11 0.12 0.11
7;;5?]7,')’&'; 0.06 0.07 007 0.07 0.07 0.07
6 M20 REZB/N\RZH 48178 15:56 K& 55/E
o 0.09 0.09 0.09 0.09 0.10 0.09
7;;5?]7,')’&'; 007 0.08 0.09 0.08 0.08 0.08
7 M19 —MFFE i 481780 16:05 K& 55/ T
i 0.12 0.13 0.13 0.14 0.14 0.13
7:’_3;)’1": 010 0.10 010 0.09 0.09 0.10
8 L19 XAEIME 48178 16:17 g FE r
. 0.11 0.11 012 0.12 0.12 0.12
7::(?;))5': 0.09 0.09 0.09 0.09 0.09 0.09
9 Lig ez 4B178 | 1630 S BAE =
. 0.10 0.10 0.10 0.10 0.10 0.10




ERMEGHRE R ERLER

30

Loy 1
KIEFEH 1.02
EEHM: SM6E4A158 (A)~FM6ES5A2A (K)
B E 5 R $ERIE (1 Sv/h)
(B AE£ TlEA< A5 EROLERS XHELYImDEETEE i
No| IEI&ES OOttA MEE | g | KB GERT| wEORSR | BREANTHLIBRISHABLITE FiiE %
A AR K
OORRE HERE) B 1H 2 3E 4E 5
7:6777.')@'1 008 0.08 008 0.09 0.09 0.09
10 K18 ged= Pl 4F178 | 16:36 i% BA =
s 0.09 0.08 008 0.08 0.08 0.08
7:6777.')@'1 008 0.08 008 0.08 0.08 0.08
11 K19 LTEEE 48238 9:23 £ 55/E I
i 0.09 0.10 0.10 0.10 0.11 0.10
7:;9]7,')’1'; 008 0.08 008 0.08 0.08 0.08
12 J19 I\ H Z AT 48238 9:17 2 55
i 0.10 0.09 0.10 0.10 0.10 0.10
7:;9]7,')’1'; 007 007 007 007 0.07 007
13 J17 EBEFLEFLEAYO | 48230 9:00 £ 55/E I
i 007 0.08 008 0.09 0.09 0.08
7;;3]7,')’5; 007 0.08 0.08 0.09 0.09 0.08
14 H19 ZRILEEHEE | 48178 15:06 K& 55/E I
o 008 0.08 0.09 0.08 0.08 0.08
7;;3]7,')’5; 0.05 0.05 0.06 0.06 0.06 0.06
15 H18 EEMA 48178 14:57 i =
o 007 0.08 0.08 0.09 0.09 0.08
7;;(?]7,')’1'; 007 0.08 0.09 0.09 0.10 0.09
16 H17 W E Py 48178 | 1354 5 BE Ji
o 0.09 0.09 0.09 0.10 0.10 0.10
FAI7ILR
e FATrb 005 0.05 005 0.06 0.06 0.06
17 118 iiﬂ&iii”ﬁlﬁa 48178 | 1403 [ BAE :'/ftu s
o 007 0.08 0.09 0.10 0.10 0.09
7:’_3]7)’1'; 0.06 0.07 007 0.06 0.07 0.07
18 17 wIoALIUILESE | 4B178 14:13 i =R
o 0.08 0.08 0.08 0.08 0.08 0.08




ERMSHRERRELHER

30

Loy 1
KIEFEH 1.02
EHEHM: S6E48158 (A)~$M6ES5A2H (K)
RIS $ERIE (1 Sv/h)
(B AE£ TlEA< A5 ENOXERS XEALIYImDESTHE Q
No| #hEES OO MER | R xE | JERE | wEORR | BEEANTHLI0BRICHAHIFD TH{E =
AABRE] K
OOARE HERR) B 1M 2] 3E 48 5
7:@?;))5': HVALUE! |72 1050,
19 116 i b e 4A178 | 1426 B =, =
s 0.06 0.06 007 0.08 0.08 007
7:??77))1}; #VALUE! | 7277 LML,
20 H16 1Lyt #h g 4A178 | 1439 5 35 /:t
s 0.06 0.05 005 0.06 0.06 0.06
TRAI7ILE
. ? 00 0.07 007 00 0.0 007
» a7 |WBILERREA| ng | e | ow | mm [222Y=F ° 8 8
KEg125ERH ' "
s 0.09 0.10 0.10 0.10 0.1 0.10
7:&?]7,')’1'; 008 007 008 0.08 0.08 0.08
22 G18 EEiRE 4B178 | 1337 is R =
s 0.09 0.10 0.1 0.12 0.13 0.1
7;;5?]7,')’&'; 007 0.07 007 0.07 0.07 0.07
23 G19 LN 47178 13:24 g EE) A ry
s 008 0.08 0.09 0.10 0.09 0.09
TRAI7ILE ,
” AN #VALUE!
(FR-2TB) #VALUE!
TRAI7ILE ,
25 Ao —h #VALUE!
+
(FR-TTE) #VALUE!
FZI7ILR ,
26 SavHY—k #VALUE!
+
(FR-TTE) #VALUE!
FZI7ILR
N TREN #VALUE!
27
(FR-TTE) #VALUE!




RIS B R BIE SR E E 30

Loy 1
RIEEH 1.02
EiEHAME: SM6FE4A158 (B) ~SM6FES5H2H (K)
BIEZ T $&RIE (1 Sv/h)
wmss | Tooma | mea | ME | xp |ET | wmows | ABREARCHIOBEIHABID wlE | E
= 2 e B % A-BE- % g B & &l B
DD/?ZAF;@%;?EE% B 1[E 2[H) 3 40 5[]
T:.;i?yﬁ)ii #VALUE!
(77\-:%»4%) #VALUE!
T:.;i?yﬁ)ii #VALUE!
(71-:%»4%) #VALUE!
7:.;377-,)@; #VALUE!
(FR-avBst) #VALUE!
7:.;377-,)@; #VALUE!
(71-:%»4%) #VALUE!
7:.1,7].]’11 #VALUE!
(71-::151;499 #VALUE!
7:.1,7].]’11 #VALUE!
(FR-avsh) #VALUE!
7:.1,7].]’11 #VALUE!
(7x-:|i>um #VALUE!
o7 AALUE
(7x-:|i>um #VALUE!
o7t AALUE
(FR-aVHUS) #VALUE!




